COMPUTER . SERVER. NETWORK INTEGRATOR . RACK SERVER.SOFTWARE.CCTV
YOUR PARTINER !N !IT TECHNCLOGY.

M’PT. MITRA RELASI TEKNOLOGI

INDS& RACK

NETWORK CABINET

PRO
SERIES

INSTALLATION INSTRUCTIONS

M12 Hexagon Key
Tool Include D\'esD No  Tool Include |:] Yes D No  Tool Include DYes D No

Phillips Screwdriver m

X

Tool Include l:] Yes Dl\lo Tool Include DYes D No

Percayakan Kebutuhan IT Perusahaan Anda kepada Itrelasi.com



https://www.itrelasi.com/hp08159532669

COMPUTER . SERVER. NETWORK INTEGRATOR . RACK SERVER.SOFTWARE.CCTV
YOUUR PARTNER IN IT TECHNCLOCOGY.

MPT. MITRA RELASI TEKNOLOGI

PRO SERIES IND& RACK

INSTALLATION INSTRUCTIONS AEIVIORK CABIRED

M8*20 Screws SIB Pes)

Vertical Main Frame Spring Panel #8

Lock Panel of

Front :

N— Lock § aneln Q’ p
Inserting the end of the e Oxer S

Frame into the Slots on
the Top & Bottom Frame Locking with Screws Locking the Main Frame

ek ;Ml'@

¢
¢ 1ol SRR

w Installation Completed
M6*12 Screws & 2.5" Castors & Installing Castors :
M6 Nuts (16 Sets) Adjustable Feet (4 Sets Each) & Adjustable Feet Cassrtlg:: g):\?lnjalsrt‘ab?é“fe'e!

Q‘ Tr .

M6*12 Screws
for Top Cover (4 Pcs)

Percayakan Kebutuhan IT Perusahaan Anda kepada Itrelasi.com



https://www.itrelasi.com/hp08159532669

COMPUTER . SERVER. NETWORK INTEGRATOR . RACK SERVER.SOFTWARE.CCTV
YOUUR PARTNER IN IT TECHNCLOCOGY.

MPT. MITRA RELASI TEKNOLOGI

PRO SERIES IND& RACK

INSTALLATION INSTRUCTIONS AEIVIORK CABIRED

|

o a ARl

STT5*10 Self- Taprmg

Mounting Angle Screws (8 Pcs

Installing Mounting Angle

STEPE
0 ' ’ ' MB*12 Screws (32 Pes) o
' M&E Square Nuts (16 F(wj

ME Inserting Nuts (16 Pcs)

ME*12 Screws (4 Sets)

B M6 Nurs [4 5ets)

Using for Installing

19" Mounting Profile Mounting Profile
0 @ Wil O

MB Inserting Nuts (2 Pes)
& ME*12 Screws (2 Pes)

Mounting Profile Connecting

Mounting Profile Connecting with Bottom Frame with Top Frame Step E Completed Show

STEPF

l The Hinger Bolt inserts

Percayakan Kebutuhan IT Perusahaan Anda kepada Itrelasi.com



https://www.itrelasi.com/hp08159532669

COMPUTER . SERVER. NETWORK INTEGRATOR . RACK SERVER.SOFTWARE.CCTV
YOUUR PARTNER IN IT TECHNCLOCOGY.

MPT. MITRA RELASI TEKNOLOGI

PRO SERIES ¥  INDa RACK

INSTALLATION INSTRUCTIONS | HETWORK CABINET

STEP G

Installing Rear Door Step G Completed Show
STEPH
I f '
e Lock Fasterner Locking
Side Doors Installing Side Doors into The Frame

Installation Completed

Percayakan Kebutuhan IT Perusahaan Anda kepada Itrelasi.com



https://www.itrelasi.com/hp08159532669

